B XE «BEWHY KA

—. EPE (24 )

1. 241 A={0,2,a},B={1,a°}, #AUB={0,1,2,4,16}, Ma= ( )

A. 0 B. 1 C. 2 D. 4
2. E%usina:¥,%<a<n, Ntane = ( )
A. —% B. -2 C. i% D. +2

3. A ABA) BB x+3y —4=0IEE N1, Ma= ( )

A. 4 B. —g C. —Jégzg D. ﬁgz—g

4.5 SUSH R MRy = £ (x) FS6 T HA x =107, B4 x>10, f(x)=3",
- )

1 3 2 2 3 1
A. f(§)<f(§)<f(§) B. f(§)<f(§)<f(§)

2 1 3 3 2 1
C. f(§)<f(§)<f(§) D. f(§)<f(§)<f(§)

5. 7 X [i [—%,%]Lllmﬂﬂx—/l\iﬁzx, @cosxa@famﬂoiu%zrm Fy 40 2
( )

A L B. 1 c. 2 D. 2

2 3 3 T
6. EAFIEEy =sinx E%, R%%@iﬁy:cos(x—%)ﬁ'ﬂ@%( )
A. rnw%z%/ﬁm B. WE%Z%/\%j

C. rma%z%/[ﬁm D. ruva%z%/r%m



LA (20 41)

-2X+1 x<-1
A F(x)=1-3, —1<x<2,, )”JJf{f[f(%)+5]}=
2Xx-1 x>2

8. LB HNH (a,) A g=2, BInTLZAIHS,, W=

a,

9. Cilla B 5 IRIf, M%ﬁ% SR o

10. CENBREL f (X) =2Xx" +mx+3, i xe[-2,+0) i, %y =f(x) 2WEE, X4
X € (—o0, 2], BEEy=f(x)ZMEE, N fQ)= .

=, fREB (56 5

11. (14 %) AABC )=/ f1 A B,C it %t f) 34 4> 5l & a,b,c « © &1

B=45 b= \/_cosC—Z\f

(L Kc; @i ABHIHFAED, RKCDHIK.



12. (1443 BHEC: X*+y*+Dx+Ey+3=0KkTHZI:x+y-1=0XFx, [EL>

EH R, N2, REC KR,

13. (1449 CaHdl{a | Wie: a =1, Ha,a, - a, & ZNLNEELHT
A, 8, d AN MEERF; a,,a,, a8, EAZENd HEZEHI.

(1) #a,=40, kd: (2 Ka, XTFdMWXRR, HRa, WRETEH.



14. (14 4)) BRI SUHN R IR (x) = ji}%@&c

(1). 3R a FI1H;
2). HFAIfEEte R, AERX F(°-2t) < f(k—2t)EMSL, RKEH K FIBUE TG .



